% , J % & g YeThIPE ACCATUYHBIX 3HAKA, ITOPSOK ONepalui

Nwms: Jara: Onenka:
3,3+6x6,2+2= 3,8 -12%x4,9+6=

18x2,4+3-3,4= 2,9+2,7+3,4%x3,1=

4,5+15%x2,8+3 = 20x5,5+4+4,9 =

4,4+2,1x6,3—2,9= 20x6+5-2,8=

6,2—-2,5-3x%x5,1= 2,3-5,6—-3,7x5,9=
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% , J % & g YeThIPE ACCATUYHBIX 3HAKA, ITOPSOK ONepalui

Nwms: Jara: Onenka:
3,3+6x6,2+2=2109 3,8—-12x4,9+-6=-6
18x2,4+3-3,4=11 2,9+2,7+3,4x3,1=16.14
4,5+ 15%x2,8+3 =185 20x5,5+4+4,9=324
4,4+2,1x6,3—2,9=14.73 20x6+5-2,8=21.2
6,2-2,5-3x5,1=-116 2,3-5,6-3,7%x5,9=-25.13
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